
FPMA-D1240BLACK
  

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

Monitor desk stand

Monitor bureausteun

Monitor Tischständer

Support moniteur de bureau

Supporto da scrivania per monitor

Soporte de escritorio para monitor

Suporte de mesa com base para monitor

Bordstander skærm

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Bordstativ til skjerm

Skrivbordsstativ för bildskärm

Näytön pöytäteline

Stojak na biurko

Stolní držák monitoru

Stolový stojan na monitor

Stativ de birou pentru monitor

m
in

59
0m

m
-m

ax
73

0m
m

m
in

10
0m

m
-m

ax
40

0m
m

44
0m

m

423mm

min100mm-max600mm

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL



PARTS

FPMA-D1240BLACK

Attach the vertical parts (B) to the feet (C). Then attach 
the brackets (A) to the vertical parts
Bevestig de verticale delen (B) aan de voeten (C). Beves-
tig vervolgens de beugels (A) aan de verticale delen
Befestigen Sie die vertikalen Teile (B) an den Füßen (C). 
Befestigen Sie dann die Halterungen (A) an den verti-
kalen Teilen
Fixez les parties verticales (B) aux pieds (C). Fixez ensuite 
les supports (A) aux parties verticales
Fissare le parti verticali (B) ai piedini (C). Quindi fissare le 
staffe (A) alle parti verticali
Fije las partes verticales (B) a los pies (C). A continuación, 
fije los soportes (A) a las partes verticales
Fixar as partes verticais (B) aos pés (C). Em seguida, fixar 
os suportes (A) nas partes verticais
Przymocuj części pionowe (B) do nóżek (C). Następnie 
przymocuj wsporniki (A) do części pionowych

EN

NL

DE

FR

IT

ES

PT

PL

M-A. M5x14
(x4)

M-F. D5
(x4)

M-G. D8
(x4)

M-H. (x8) M-I. (x8)

M-B. M6x14
(x4)

M-C. M6x30
(x4)

M-D. M8x30
(x4)

M-E. M8x50
(x4)

A. (x2)

D. (x8) E. (x8) F. (x1)

B. (x2) C. (x2)

Tool

STEP 1

C

B
D

F

E

A

D
F

E

200x200 -
600x400 mm

0-35 kg 59-73 cm



* Not Included

Install the adapter brackets and use spacers if necessary
Bevestig de adapter steunen en gebruik afstandhouders 
indien nodig
Montieren Sie die Adapterhalterungen und verwenden 
Sie bei Bedarf Distanzscheiben
Installation des adaptateurs sur l'écran et utilisez des 
entretoises si nécessaire 
Montare il supporto del adattatore e utilizzare distan- 
ziatori se necessario
Conecte los soportes del adaptador y use espaciadores 
si es necesario
Instalação de braços adaptadores e utilize separadores 
se necessário
Zainstaluj ramiona uchwytu i użyj dystansów jeśli jest 
taka potrzeba

EN
NL

DE

FR

IT

ES

PT

PL

Guide the cable to the rear and secure with the cable clip
Geleid de kabel naar de achterzijde en zet vast met de 
kabelclip
Führen Sie das Kabel nach hinten und sichern Sie es mit 
der Kabelklemme
Guidez le câble vers l'arrière et fixez-le à l'aide de l'attache-
câble
Guidare il cavo verso la parte posteriore e fissarlo con il 
fermacavo
Guíe el cable hacia atrás y fíjelo con la abrazadera
Conduzir o cabo para trás e fixá-lo com o clipe de cabo
Poprowadź kabel do tyłu i zabezpiecz go zaciskiem kabla

EN
NL

DE

FR

IT

ES
PT
PL

STEP 3

STEP 2

M-A M-B

M-C

M-E M-E

M-D M-C M-D M-C M-D

M-F M-G

M-G

M-G

M-I M-I M-I

M-G

M-H M-I M-I

M-GM-H

M-GM-H

M-E

M-GM-H



24.01


